EARAROBEEIERT — 2 N— IBISH —F

20185F8H21H (X) 11H£R2H

mi{tﬁﬁﬁﬂﬂ A21 HY5FR—H (xwlw | lmEmml - |5 @) w8
[A&4£] 1 7% :600,000 ™ ~ 23#&:138,000 W ~ 3#&:72,000 ~ 43#&:54,000™ . 5 3&:36,000 ™
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
RN EEPE oS 4 éﬁ_ﬁ;ﬁﬁl 1:(3_6).9 7-7-3-1 387 — | 1 | 457 g%éi (&R)
LHIRT TR B AT F AT ) | e Ty —n
3 - 4 o9 | BERE 1:37.2 10-10-10-8 | 37.6 | — 5 540 | EBEE (£R)
2|8[10| F7>¥=TFT b 6.0 (1 172) Gy | AwEE
R:HVXRT (v 7 B:UAyFrhyday ry Y aIEEMASH T avi
= e . hBEEH : -3-3- — hnEEFNE (£R)
3lsl5| 7577 it 5 i 1(/?;)2 3-3-3-3 | 39.4 3 fse) R SR
:d—IWKR7Y2—Ib BRI 294 LA Eae]
> I = 44 | KB 1:37.4 1-1-1-2 | 39.9| — 9 485 | HARR (£R)
s 4| TTRINIZR 56.0 ) e | B 7r-zrEva>
LTAIWNTTFHF— B:YAXIZX LY EvilLy RT7—L
=+ 3 o4 | BRFBE 1:37.5 4-4-3-4 [39.5| — 4 42 | £E—E (2R
58 TAE—3%A b 5.0 (7€) o |mEE
LY IRGA TR B:T77314 R RXT=Y INT Y U5
. . # g | REAA 1:37.7 5-56-5 |39.3| — 2 490 | EiEiELE (£IR)
Y 3 e R o ) Gy | Bl
Lo—AJo— B:hH2 e
3 4t 5 | AEE 1:37.8 8-8-7-7 |39.0| — 8 447 | SHEBE (£R)
vd > PARAZES 560 (7€) () |EBEZME
v TRy b BieALT Iy b HIAR&Zy b
. e BRANELRE : -9-9- — 2XRE (£R)
s W6 | reraon e | B e | eees @2 - |7 o AR
L:xA21=dr7—2 BitaHT— AT T — L
4 5 | SHUESE 1:38.9 2-2-2-6 | 41.2| — 6 496 | SHARIEH (£R)
9189 TAXY= 5.0 (2 1/2) (+3) | FAdIE—
L:xrivvH/xtx B4 HPUTR o #2
. Y 4 5 | BREBHER 1:39.5 6-6-8-10 |40.4| — 10 | 461 |$ARK (&R)
wol7]7| ty7TTnNAT A53.0 ® Gy | B 77—z rEvas
R:IIATA—h— B:7+—E—F pal=l%e]
® 1—F—@EBIERL
1T=7r= 4,9,5,8,3,7,1,2,6,10
2a=5F= 4,9,5,8,3,7,1,2,6,10
Ja=5= 4,9,(1,5,8),3,2,7,6,10
40—+ — 1,4,5,8,3,9,2,(6,10),7
[ /N
B 1 140 714K 1-10 300 e E 1-8 5004 JEE 1-5-10 2,090M
B B 1 110H =5 260M e B 1-8 570M EE 1-10-5 5,710/
10 240M 5-10 1,090M B & 1-10 830M
5 140/ B H 1-10 820

ABICOVWTRDTEEERROODE. TR LIV,




